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2| 2| wiEAnE =S| A
1oAY 393,437 388,533 4,904
1A S A 7 Hol H9) 373,950 369,051 4,899
1. WS S I ARG =59 373,950 369,051 4,899
1. WS EHEIA A= 373,950 369,051 4,899
1.3 uggn dd = 218,098| 218,098 0
2. 5AAAn Y= 155,852 150,953 4,899 | F-2¢FA1H] 1 -360,0009) = 17}l = -360,000
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1.OEgusAAY = 12,487 12,482 5|49 F n A AF 21 05,0009 1= 5,000
’ 2. 71Ekg-Fol A5 7,000 7,000 0
1.7ebs e XY F 7,000 7,000 0
1.7 A 9= 7,000 7,000 0
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1. R EREF9 16,643 16,557 36
I R R 16,643 16,557 36
1524 16,643 16,557 36
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1AM RRFTE 1,576 1,576 0
1A= 1,576 1,576 0
2.4y 5 0 5
1. A2k 2 5 0 5
1.2 o 5 0 5| =A Izl ¢ 5,000 13]= 5,000
3. 71t A EE54) 2,297 2,362 -65
1.0l 354 1,490 1,457 33
101444 1,490 1,457 33| dlFol A4 ¢ 33,0009 x13]= 33,000
2,716 84 8% 44) 807 905 -98
1.71et 8 A ¢4 807 905 -08 | AL WL EFAH] 1 -25,0009%23]= -50,000
2 &Gl Zh) 0 -24,0009 23] = -48,000
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LA & 9,920 10,994 -1,074
1.7]€ nAdu 3,718 3,982 -264
1A dgA A 3,718 3,982 -264
1214 dhA AR 3,718 3,982 -264
1. 7)1 A2 22421711 3,718 3,982 -264| FARAAFG A AN 1 -127,0009) %315 = -381,000
g _35)F 3 2=t A EAF A A 78000
AHAAN(F) 1 39,0009*278= ’
(B HA_3F) TS 2= A AL PG A 39 000
QAN (&) : 39,000 1= ’
2.0 HA g AFA st 6,202 7,012 -810
1. A 9273} 4,054 4,864 -810
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1. g Rk=8H 2,690 3,500 -810| W57 0] 1 -209,500)*3%= -628,000
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1. 9RkG=8-] 2,150 2,150 0
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2. 5.7 17,322 17,500 -178
LIl gi a2 B zehd # 7,814 7,874 -60
1. [Z]13r 0234} 246 246 0
1.3 EA] 1 246 246 0
2. [2]RAAES 1,975 2,035 -60
1.4 ¥kEgH 685 685 0
RISt S 270 270 0
4.3 A FA]H| 1,020 1,080 =60 | FT-AE 1 -30,000+23]= -60,000
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4. [F][z]FA I EE T4 Bl 500 500 0
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5. [ A5 4sAren] 2,193 2,193 0
1295 2,193 2,193 0
2.3t sk 9 A e 9,508 9,626 -118
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A3 ¢ 18,1609 #1271 Y= 218,000
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2. [=]3714574 880 880 0
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49w | An Avgs  gagqus | S Rt g b h
1. [Z]n%2- 3,622 3,622 0
1.9 700 700 0
2. 08¢ H 2,922 2,922 0
2. [Z]gEE0 =AY 278 278 0
1.85F0E 278 278 0
7. HAY wdgE 19,371 17,786 1,585
LIfFIA 9 e 16,071 15,386 685
1.71e53 400 600 -200| BASFE 1 -10,0009#203]= -200,000
2. 2953 5,596 4,840 756 | AHA BAA ] 18,3009 #914] k= 756,000
3. -FraAHl 233 233 0
4. 3889 8,242 8,113 129| 2t YAHEFET 1 100, 20090 #105-+23]= 2,004,000
AR )2 A 48] =250, 0009 #43]= -1,000,000
WFEEAZTY 1 -100,0009 #5F+13]= -500,000
A7) EFTFY 1 -95,000913]= -95,000
FAHRAN LT FY : -500,000L 2= -1,000,000
AF 5 ¢ 48,000 5T «33]= 720,000
5.8 5% = 400 400 0
6. =AM Qg1 1,200 1,200 0
2. [F 1S3 frofsiy] 3,300 2,400 900
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3 H[E ] 6,833 6,833 0
2.7394 APgs 27,027 27,242 -215
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6. [ ] e) =25 600 600 0
1. WS- 600 600 0
7 [Z]IBEEN SN G 4,020 4,020 0
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2. AT EE 10,842 11,000 -158
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AAstutEd s ¢ 16,0009 +13]= 16,000
3. [Z]18TH(FA) 5,000 5,000 0
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of AR F733] el s H1)
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1. [Z1PCTY 2,192 410 1,782
1.8 EF794H] 2,192 410 1,782 AFE 7 ¢ 891,0009 2% +13]= 1,782,000
2. [z nA AN 2,063 1,863 200
LHIET50H] 2,063 1,863 200 | :=FH]F A 200,0009) %1% +13]= 200,000
4. [Z]2vtEARR FAY 4,720 4,720 0
1. 8] E79]m] 4,720 4,720 0
6.8k luke o] 108,175 107,452 723
1.8 079 9 46,194| 47,484  -1,290
15X 71789 26,254 26,604 -350
1. [2]2gd e 6,250 6,250 0
1. Ak 5200 3,250 3,250 0| A3 10,0009 #2578 +138]= 250,000
WAL ZAL - -50,0009)#33]= -150,000
WRIAH &35 2 A} ¢ -50,0009 %4 5= -200,000
AALATH] ¢ 50,0009 #23]= 100,000
2. AAFF TR 3,000 3,000 0
2. (1944 12,000 12,800 -800
1.99H 12,000 12,800 -800 | FH ] E 3o n] 1 20,0009 %20 23] = -800,000
3. [Z=]dvra gy 8,004 7,554 450
1. k=81 6,898 6,448 450 igﬁﬁ—g%)ﬁi}%%% AT+ 90,0004 450,000
2718 g e e 950 950 0
3. g Rk Fx] 156 156 0
2. 8ARA A7) 19,940 20,880 -940
1139 &% 19,940 20,880 -940
1. Yukegn) 7,390 8,330 -040 WA A A Y LETFY 1 -212,500943]= -850, 000
2RSS 1 190,000913]= 190,000
AL @A 0 130,000 %13]= -130,000
A 5-A5H] 150,000 +13]= -150,000
2. 77123 5,000 5,000 0
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3.8 R 900 900 0
4 NEEEFLT 1,650 1,650 0
5.9 1,500 1,500 0
6. WS-FH] 500 500 0
7. BFAY R =) ] 100 100 0
8. ANk F-Fxn 200 200 0
9. 1FT-GH 2,700 2,700 0
2,414 ] fA 60,181 58,168 2,013
1. 8 A A ] H A 60,181 58,168 2,013
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